

2.8.8

⊖ $x \neq 0, 2$
 ⊕ $f(0) = 0 \quad (0, 0)$

⊖ $\lim_{x \rightarrow 2^+} \frac{2}{-0} = -\infty$ $\lim_{x \rightarrow 2^-} \frac{2}{+0} = \infty$

$\lim_{x \rightarrow 6^+} \frac{6}{+0} = \infty$ $\lim_{x \rightarrow 6^-} \frac{6}{-0} = -\infty$

$m = \lim_{x \rightarrow \infty} \frac{|x|}{\sqrt{x^2 - 8x + 12}} = \lim_{x \rightarrow \infty} \frac{x}{x(x^2 - 8x + 12)} = \lim_{x \rightarrow \infty} \frac{1}{x^2 - 8x + 12} = 0$ } $y = 0$

$n = \lim_{x \rightarrow -\infty} \left(\frac{|x|}{x^2 - 8x + 12} \right) = \lim_{x \rightarrow -\infty} \frac{x}{x^2 - 8x + 12} = 0$

$x \rightarrow -\infty$ אולי $y = 0$ נראה ככה ב-3
 נראה את הפונקציה נפרד

⊖ $x \geq 0$

$y' = \frac{x^2 - 8x + 12 - x(2x - 8)}{(x^2 - 8x + 12)^2} = \frac{-x^2 + 12}{(x^2 - 8x + 12)^2} \rightarrow x = \sqrt{12} = 2\sqrt{3}$

$x < 0$
 $y' = \frac{-(x^2 - 8x + 12) + x(2x - 8)}{(x^2 - 8x + 12)^2} = \frac{x^2 - 12}{(x^2 - 8x + 12)^2} \rightarrow x = -\sqrt{12} = -2\sqrt{3}$

$x = 0$ אמת

לפי הפונקציה אמת
 אולי נראה את הפונקציה
 (אולי)

-4	$-2\sqrt{3}$	-2	0	1	2	3	$2\sqrt{3}$	4	6	7
+	0	-	?	+	+	+	0	-	+	-
→ max		↓ min		→		→ max		↓		↓

$\min(0,0)$ $\max(2\sqrt{3}, -\frac{2+\sqrt{3}}{4})$ $\max(-2\sqrt{3}, \frac{+2+\sqrt{3}}{4})$
 $2 < x < 2\sqrt{3}$, $0 < x < 2$, $x < -2\sqrt{3}$: "1" "1" "1"
 $x > 6$, $2\sqrt{3} < x < 6$ $-2\sqrt{3} < x < 0$: "3" "1" "1"

